B RS 98 44 FE = 4 I A TR 1S B4 A R
R B P2 AR A
% — Bp
1 £ 3K

(%1 B#VA) (RAZEREE)

|1

B e

- e

Cl=T4¢ A 3+ B A% l?éf:""fﬁlﬁ HECRL

SMEEFRERIRTHRNERAL)

fEFEEE ¢ (30%)

B O % (Self-Insurance)
KA FE(A 3 B (Blanket Policy)
#eE 2
Orba e

CRREE S
HAt{# % (Other Insurance)

HR2E R R - (20%)

o S ORI DA ORI R o B IR 2R 43 > PTG 2
CRELFINA H SRR H I 2
ERIBBHIEETHARMIA ?

PR bR B RS R TE S A 2

58 : (50%)

. FHAERE TORIRFRE B - IRERSERE SRR FIRR AR AT HOLE 7 DURAREGF]

TTFAERFIR R > G Bl » (15%)

. FEORBR B RIS L 2 AR PCE MR R T PRI L IR 2 1

PR o SHORBR RIS 22 2 v = AT RETRE 7 (15%)

. RS BFHMANRIRTE - RIS THIT TSRS T THEES -

Hrp @R TR R R R R EER 520 - S RAEE M Eps IR A FS
FEESRATIR S IRIRAUAF I A FREL ? W EEBRT TR B P B (AR ORI PR U 22 R 7
(20%)

lL_......-----'--—--"""""""




